1. Structural learning (B algorithm)

1.1. Population size: bisection
1.1.1. 47 successful runs
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1.2. Population size: half of bisection

1.2.1. 39 successful runs
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2. Using Complete structure

2.1. Population size: bisection
2.1.1. 45 successful runs
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2.2. Population size: half of bisection
2.2.1. 41 successful runs

o I
S 01
3 oo
-10| i i
S
S ——————— e I T 2,
-20 Fa e ’ s
2 L o
H S > 5
- £ 0.6 et
2 ° w 'y ] e
I BN g
R S P
2 i &
3 o *¥ 0.04] M =
—50t o * : e
o o MPE W o MPE
0+ + Optimum Max & Fd + - Optimum Max
-60[ + + Optimum Min 0.02) K + Optimum Min
M Best Ind S Best Ind
-70 S
e
0 10 20 0 40 5 60 70 (] 20 0 60 80 1
Generations Generations
4 T LA
425 N 90
o
420) o* 80
9
z 70
548 1 g
g - E 60
5410 o E
P o 2 50]
& 405 H
£ s E 40
= 3
a00r - < 30
o MPE
395 20|
B Best Ind
390 10|
0 5 10 15 20 25 30 0 20 40 60 80 100
Generations Generations
0, sps080880
o 425 g8
- o, o
S Mwm 420 o
—a0f SF 08
S < 415 °
2z o 2 o
3 -sop ey £ 410 o°
g oo El
R Y %
5 80 Y £ 405 o
s " Z
400
-100 * © MPE ° o MPE
+ Optimum M
s ptimum Max 308,
120 ., + - Optimum Min Best Ind
L Best Ind 300} °
4% 20 40 60 80 100 0 5 10 15 20 25
Generations Generations
90
80
z 70
S
g 60
@
2 50|
E]
S
E 40
s
8
< 30
20|
10|
0 20 40 60 80 100
Generations




3. UsingBivariate structure

3.1. Popul

ation size: bisection

3.1.1. 49 successful runs

o L
0.04
-10| i
&
2 S 0.035
- ox, e
2 o ‘.«' 0.03 M%o'
3 3 > 7
@ -30| St £ -
£ &F 2002 i F
5 -40) oo‘:: g oo M‘s L
s 0;4 [ Rt
— E &mf '\
501 o © MPE 0.015 s e © MPE
o:, +  Optimum Max 001 & ’.' + Optimum Max
~607" + Optimum Min o ‘w + Optimum Min
i Best Ind 0.005 o i Best Ind
-70| o
By
0 20 40 80 0 20 40 60 80 100
Generations Generations
4 oooooooooowww
o
425| 09 90
o0
o 80
420| o°
_ o g 7
s ° £
g 415 p g 60
2 ° e
2 410 N
4 ° ]
£ E 40
405| 8
< 30
s o MPE
400| 20
Best Ind
10
395|
0 5 10 15 20 25 30 0 20 40 60 80 100
Generations Generations
430, eeeo0000
588
. o000
- S ————n—, 425 3
20| & Pt st i l o®
a0l 420] . o2°
S ©
v <
z _50§' * Sas oy
3 .
s 2
g e H g 410
g M &
S -100| I 405}
M ©  MPE o MPE
-120 . + Optimum Max 400
. - Optimum Min Best Ind
-140 S gy Best Ind 395
e G
) 20 40 60 80 100 0 5 10 15 20 25 30
Generations Generations
90
80
2 70
g
g 60
@
Z 50
K]
E 40
H
8
< 30
20
10
0 20 40 60 80 100
Generations



3.2. Population size: half of bisection

3.2.1. 41 successful runs
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